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Lesson 44. Takaarant words. 
 

Here is a list of tkaraNt words. To help you decline them, Supplement 36 is 

up on the site too. 
Masculine  and feminine words that are declined in the same manner: 

mét!  wind M, _aU_a&t! king/ mountain M, idnk&t!  day M , _agvt! The Lord M, 

hnumt!  Hanumaan M, _avt!  Thou M, sirt! river F, yaei;t! a young woman F, 

iv*ut!  lightening F. 

Neuter words are declined like jgt!  world N......ivyt!  sky N ,b&ht!  big, 

 
There are a few adjectives like  

mht!  big/great , gu[vt!  full of good qualities, xnvt! rich, buiÏmt! intelligent, 

xImt! intelligent,  ïImt!  rich/one with prosperity, auspiciousness etc, 

Aayu:mt!  long lived one, and other adjectives like ikyt!  how much, #yt! this 

much, yavt! as much, tavt! that much......  are declined like _agvt!  if 

Masculine , like jgt!  if N and like ndI if Feminine. The feminine forms would 

be mhtI, gu[vtI, xnvtI, buiÏmtI, xImtI, ïImtI, Aayu:mtI, ikytI, #ytI, yavtI, 

tavtI , 
 
The three forms _agvt!  , jgt!  and ndI  are extremely important. You need 

to memorize them. Please do make an attempt to do so.  
 

Two words that you will constantly in your conversation are  _avan!  and 

_avtI, They mean "you" but are the you forms of respect as in the Hindi " 

Aap " or the English " Thou." Though they mean "you" they are not put into 
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the mXym pué; . Instead they take the àwm pué;  and you will be making 

sentences like.... _avan! gCDit, _avtI gCDit, _avan! maedk< oadtu, _avtI jl< 

ipbtu, _avan! AgCDt!, _avtI ipbet!, _avan! piQ:yit, _avtI kayR< kir:yit, 
 
i hope that i have been able to put that idea across clearly. Over to the 
exercises. 
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Lesson 44 A. Exercises with Takaarant words. 

Translate using _avt!, 
1. Are you a doctor? 
2. What is your name? 
3. All of you, please sit down. 
4. This book is being read by you. 
5. She will not be angry with you. 
6. Does the teacher have faith in you? 
7. I think that he is afraid of you. 
8. Who is Shekhar amongst you? 
9. He will tell you tomorrow. 
10. She sees you. 

Translate: 
1. The rich man is going to the market with the intelligent man. 
2. Ramesh is going to school with the Ones who have good qualities. 
3. The water of the river is clean. 
4. The world is beautiful. 
5. The big building's name is "Laxmi Narayan Sadan." 
6. The great river flows fast. 
7. The clever people's meeting is here in this auditorium. 

8. The big book is on the table. ( Use both ¢Nw M and puStk N) 

9. I will tell you a great story. 
10. The Himalayas are the greatest among the mountains in the world. 
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Lesson 44 B Answers to Lesson 44 A. 

Translate using _avt!, 
1. Are you a doctor? 

_avan! vE*> ikm! ? 
2. What is your name? 

_avt> nam ikm! ? 
3. All of you, please sit down. 

_avNt> k&pya %pivzNtu, 
4. This book is being read by you. 

@t< puStk< _avta pQ(te, 
5. She will not be angry with you. 

sa _avte n kuPyit, 
6. Does the teacher have faith in you? 

AXyapkSy ivZvas> _avit AiSt ikm! ? 
7. I think that he is afraid of you. 

Ah< icNtyaim yt! s> _avt> _aym! Anu_avit, 
8. Who is Shekhar amongst you? 

_avTsu k> zeor> ? 
9. He will tell you tomorrow. 

s> _avte Zv> kwiy:yit, 
10. She sees you. 

sa _avNt< pZyit, 
Translate: 

1. The rich man is going to the market with the intelligent man. 

xnvan! buiÏmta sh Aap[< gCDit, 
2. Ramesh is going to school with the Ones who have good qualities. 

 rmez> gu[viÑ> sh paQzala< gCDit, 
3. The water of the river is clean. 
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sirt> jl< SvCDm! AiSt, 
4. The world is beautiful. 

 jgt! suNdrm! AiSt, 
5. The big building's name is "Laxmi Narayan Sadan." 

 mht> _avnSy nam lúmI naray[ sdnm! , 
6. The great river flows fast. 

 mhtI sirt! zIº<  vhit , 
7. The clever people's meeting is here in this auditorium. 

 buiÏmta< sMmelnm! AÇ @tiSmn! s_aag&he AiSt , 

8. The big book is on the table. ( Using both ¢Nw  M and HçámlçkçÀ N) 

mht! puStkm! %TpIiQkaya> %pir /  %TpIiQkayam! AiSt , 

mhn! ¢Nw> %TpIiQkaya> %pir /  %TpIiQkayam! AiSt , 
9. I will tell you a great story.  

Ah< _avte mhtI< kwa< kiw:yaim , 
10. The Himalayas are the greatest among the mountains in the world. 

jgit _aU_a&Tsu ihmalya> mhaNt> , 
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Lesson 45. The  Study of  Active Past Participles. 
Over the last few months, our study of nouns and verbs has brought out a 
very important point: A root word can only be used in a sentence IF a suffix 

has been added. A suffix = àTyy , 

The  àTyy  is one which if added to a xatu changes the xatu  into a noun, an 

adjective or an indeclinable. 

One of the àTyy s is called the  k¯dNt àTyy , 

You are already familiar with 2 of the 5 k¯dNt àTyy , though they have so 

far not been introduced as so. The TvaNt / LybNt  and tumNt  avyayas are 

k¯dNt s. 

Let's appoint pQ!  as our guinea pig. Through the use of this dhaatu, let's try 

and understand how the participle works. We can then apply it to all the 
other dhaatus. 

pQ!  has 5. k¯dNt  forms.  

1. The TvaNt / LybNt   .. piQTva , s<pQ( , Gerund 

2. The tumNt.. piQtum!  Infinitive 

3. The Past Participle, both Active and Passive. 
4. The Potential Participle. 
5. The Present Participle both Active and Passive. 

Don't let these terms scare you. We'll concentrate on each one in turn and 
get the boogeyman out of them. 
You know Points 1 and 2. You also know the active and the passive sentence 
constructions ....now let's see how the use of Point 3, helps us simplify 
sentence structures in the Past tense. First a quick recall of what we already 
know: 

pQ! , To read/study 

s> ApQt! , He read. (Past tense, active)  

s> paQm! ApQt! , He read a lesson. (Past tense, active) 
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ten paQ> ApQ(t , A lesson was read by him. (Past tense, passive)...please 

make sure you have understood the formation of passive sentences before 
you continue any further.  

In the above three sentences, the dhaatu pQ! is in the form of a verb. When 

used as a participle, it becomes an adjective and follows the noun in three 

areas... gender il¼ , number vcn , and declension iv_aiKt , 

pQ! as a participle, takes the root past participle form: pQit ,  Supplement 

37. gives you the root past participle forms of the dhaatu to help you 
further form the Active Past Participle AND the Passive Past Participle. You 
have already seen how the Gerund and the Infinitive of that root form is 

formed.... piQTva, piQtum! , These forms are avyayas. Let's study the past 

participle in sections: 
The Active Past Participle:  

The same root form piQt , is used as the The Active Past Participle  AFTER 

the àTyy  " vt! " or " vtI" is further added to it. The root form for pQ!  as 

the active past participle becomes piQtvan! , NOW, it is an adjective. It is 

declined in the three genders as a Takaarant word. 

M= piQtvt!  declined like _agvt! , 

F= piQtvtI declined like ndI , 

N=  piQtvt!  declined like jgt! , 

So, instead of saying s> ApQt! , Tv< ApQ>, Ah< ApQm! , i simply say  

s> piQtvan! , Tv< piQtvan! , Ah< piQtvan!   if all of us are men. Since s> , Tv<  

and Ah<  are all àwm - iv_aiKt , i have to use the same for the piQtvan!  which 

is now an adjective. 
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If we are dealing with women, it becomes: sa piQtvtI , Tv< piQtvtI , Ah< 

piQtvtI , 

If there are two men involved, the sentences would become: taE /balkaE 

piQtvNtaE , yuva< piQtvNtaE , Aava< piQtvNtaE , 

If there are two women involved, the sentences would become: te /bailke  

piQtvTyaE , yuva< piQtvTyaE , Aava< piQtvTyaE , 

Many men:  te / balka>  piQtvNt> , yUy< piQtvNt> , vy< piQtvNt> , 

Many women: bailka>  piQtvTy> , yUy< piQtvTy> , vy< piQtvTy> , 
 
Supplement 37. gives you the participle root forms of the dhaatu to help you 
form the Active Past Participle. 

Let's work on only the àwm-iv_aiKt forms this week to help build our 

foundation. A few examples are given below: 

1. The boy read a book. balk> puStk< piQtvan! , 

2. The girl read a book. bailka puStk< piQtvtI , 

3. The teacher (M) taught a lesson. AXyapk> paQ< paiQtvan! , 

4. The teacher (M) taught a lesson. AXyapk> paQ< paiQtvan! , 

5. The two men saw a bird. mnu:yaE og< d¯:qvNtaE , 

6. The two women saw a bird. mihle og< d¯:qvTyaE , 

7. The many boys played with a ball. balka> kNduken ³IiftvNt> , 

8. The many girls prayed to the Lord. bailka> dev< ntvTy> , 
And with that you can, with the help of Supplement 37, try out the 
exercises in Lesson 45 A. 
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Lesson 45 A. Exercises with the Active Past Participle. 
  
Nouns/Pronouns                      Verbs    Avyayas      Adjectives. 

laekyanSwank bus-stop. N    

àma[pÇ certificate N    

#NÔcap  rainbow N    

vKt& speaker M    

iv}an Science N    

 
Translate: 

1. The priest worshipped the Lord. 
2. The boy went. 
3. The men stood near the bus-stop. 
4. The women wore sarees. 
5. The volunteers did the work. 
6. The two girls wrote the lessons in their books. 
7. The student obtained the certificate from the president of the work-

place. 
8. When the mother called, the boys got up and sat on the bed. 
9. The mother told the daughter a story. 
10. The father cleaned the floor with a clean cloth. 
11. The two boys ate the fruits. 
12. The two girls ate the bananas. 
13. The cloud thundered in anger during the rainy season. 
14. Saarika sang a song for the people. 
15. The man sat under a tree and thought. 
16. The girl gave a book to the teacher. 
17. The people saw the rainbow in the sky. 
18. The Rishi meditated on the Lord in the morning. 
19.  The cook cooked the meal quickly. 
20.  The students studied before the exam. 
21. The speaker spoke about Science. 
22.  The father placed the books on the table. 



 Step by Step Sanskrit Learning Programme – Month 10 

Level 1 - Month 10 lessons 44 – 47 B 
www.chitrapurmath.net © Shri Chitrapur Math 2002-2013 

282/295

23.  The people laughed when they heard the speaker's speech. 
************ 

Lesson 45 B. Answers to Lesson 45 A. 
 

1. The priest worshipped the Lord. 

puraeiht> devm! AicRtvan! , 
2. The boy went. 

balk> gtvan! , 
3. The men stood near the bus-stop. 

nra> laekyanSwankSy smIp< iSwtvNt> , 
4. The women wore sarees. 

mihla> zaiqka> x&tvTy> , 
5. The volunteers did the work. 

Svy<sevka> kayR< k¯tvNt> , 

Svy<seivka> kayR< k¯tvTy> , 
6. The two girls wrote the lessons in their books. 

bailke tyae> puStkyae> paQan! iliotvTyaE , 
7. The student obtained the certificate from the president of the work-

place. 

 DaÇ> kayaRlySy AXy]at! àma[pm! AaPtvan! / àaPtvan! , 
8. When the mother called, the boys got up and sat on the bed. 

 yda mata AahUtvtI , tda balka> %iTwtvNt> mÂe %piv:qvNt> c , 
9. The mother told the daughter a story. 

 mata puÈyE kwa< kiwtvtI , 
10. The father cleaned the floor with a clean cloth. 

ipta tl< SvCDen vSÇe[ ]ailtvan! , 
11. The two boys ate the fruits. 

balkaE )lain oaidtvNtaE , 
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12. The two girls ate the bananas. 

bailke kdlI)lain oaidtvTyaE , 
13. The cloud thundered in anger during the rainy season. 

me"> v;aRkale kaepen gijRtvan! , 
14. Saarika sang a song for the people. 

sairka jne_y> gIt< gItvtI , 
15. The man sat under a tree and thought. 

pué;> v&]Sy Ax> %piv:qvan! iciNttvan! c ,  
16. The girl gave a book to the teacher. 

bailka AXyapkay puStk< dTtvtI ,  
17. The people saw the rainbow in the sky. 

 jna> Aakaze #NÔcap< d¯:qvNt> , 
18. The Rishi meditated on the Lord in the morning. 

\i;> àat>kale dev< Xyatvan! , 
19.  The cook cooked the meal quickly. 

 sUd> _aaejn< zIº< pKtvan! , 
20.  The students studied before the exam. 

DaÇa> prI]aya> àak! piQtvNt> , 

DaÇa> prI]aya> àak! piQtvTy> , 
21. The speaker spoke about Science. 

vKta iv}aniv;ye %Ktvan! , 
22.  The father placed the books on the table. 

ipta %TpIiQkaya> %pir puStkain Swaiptvan! , 
23.  The people laughed when they heard the speaker's speech. 

 yda jna> vKtu> _aa;[< ïutvNt> tda te histvNt> , 
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Lesson 46. The Active Past Participle. Part 2. 
 

Read Only Series. 
 

We have worked with the  àwma iv_aiKt of the Active Past Participle. Let's 

see how else it is used in the other vibhaktis. 
 Naturally the Past talks about an action that has already been done and is 
complete: I saw the boy who went.  

How would i translate this? Since the boy is the object here, i use the iÖtIya 

iv_aiKt  . Naturally i must use the object form of the word gtvt! which is 

gtvNt< , so that i may ensure that the adjective matches the noun. 

 

Ahm! ApZy< gtvNt< balkm! , 

Ah< d¯:qvan! gtvNt< balkm! , 

Ah< d¯:qvtI gtvNt< balkm! , 
 
How does one translate sentences like: I saw the boy who had been going? I 
saw the boy who was going? I saw the boy who had gone?  
 
First of all let's recall the English terms of Grammar. 

1. Gone= simple past tense. 
2. Has gone / Had gone = perfect past tense. 
3. Was going = past continuous tense. 
4. had been going = past perfect continuous tense. 

 
Now, to get back to the topic on hand, Classical Sanskrit does not have 
separate verbs for the above four kinds of verbs. Continuous and perfect 
actions are represented by the simple tense itself. 
For example, all the above past actions are translated in exactly the same 
way: 

Ahm! ApZy< gtvNt< balkm! , 
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Ah< d¯:qvan! gtvNt< balkm! , 

Ah< d¯:qvtI gtvNt< balkm! , 
 
 If you remember our very first few lessons: Ah< gCDaim  is translated both 

as " I am going" and " I go." 

s> %piv:qvta balken sh piQtvan! , He studied with the boy who was sitting 

/ He studied with the boy who had been sitting / He studied with the boy 
who sat./ He studied with the boy who had sat. 

%KtvTya leiokaya> nam Zyamla ,  Shyamala is the name of the writer who 

was talking/ talked /who had been talking/ had talked. 
 
Now let's have a look at something else: 
I am talking to the girl who has spoken. 
 
The 'has spoken" gives you the impression that the action has already been 
completed EVEN though the word " has" is in the sentence. Therefore it is 

translated as:  Ah< %KtvtI< bailka< vdaim , 

s> ³IfNt< balk< taiftvan! , He hit the boy who played. 

sa histvTya> bailakaya> muo< d¯:qvtI , She saw the face of the girl who 

laughed. 
 
You can well imagine the forms the participle will take in the various 
vibhaktis, numbers and genders.  
 
Having understood that, let's take a look at how Sanskrit, influenced by 
other languages, has developed over time to accommodate the perfect tense. 

This is done with the help of the As! xatu  ( We can deal with the continuous 

action only after we have done the Present Participles.) 
 
 So effectively we NOW have: 
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1. He saw a bird:  s> og< d¯:qvan! ,  

2. He had seen a bird: s> og< d¯:qvan!  AasIt!, 

3. He has seen a bird: s> og< d:̄qvan! AiSt, 

4. She ate a fruit: sa )l< oaidtvtI , 

5. She has eaten a fruit: sa )l< oaidtvtI AiSt, 

6. She had eaten a fruit: sa )l< oaidtvtI AasIt! , 

7. I read a book: Ah< ¢Nw< piQtvtI /  piQtvan! , 

8. I had read  a book: Ah< ¢Nw< piQtvtI /  piQtvan! Aasm!, 

9. I have read a book: Ah< ¢Nw< piQtvtI /  piQtvan! AiSm, 

 
10. Naturally, these stunts are possible by combining a verb with 

the participle. It would sound preposterous if i tried a Ah< ¢Nw< ApQm! 

AiSm  or a Ah< ¢Nw< pQaim Aasm! ,  
There is no need for exercises with this lesson. When we are through with 
our study of participles, we can go over all of it at one go and translate an 
entire story to see how they are all used. Please do go over the last three 
lessons again though. Then do write to me if you find that the topic needs 
re-teaching. 

************ 
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Lesson 47. The study of Passive Past Participles. 
Trust that you are now comfortable with the Active Past Participles. Shall 
we do a quick recall? 

Ah< balk< d¯:qvtI , I saw the boy. 

(Please note that in this lesson, i plan to handle just the participles NOT the 
verb forms...)  
Now let's first see how the passive structure reads: 
The boy was seen by me. 

Here the vt! àTyy CANNOT be used . Its presence suggests the past tense 

BUT in ACTIVE sentence constructions. 

If you recall, we added the vt! àTyy  to the root past participle form...a list 

of which is up in Supplement 37....to form the Active Past Participle. We use 

the same root form but NOW add a visarga OR an Aa maÇa OR a m! , to 

denote M, F and N respectively.  
The masculine forms will be declined in all the vibhaktis, and numbers as 

ram, 

The feminine forms will be declined in all the vibhaktis, and numbers as mala 

The neuter forms will be declined in all the vibhaktis, and numbers as vn , 
To make it clearer.... 

gt  becomes gt>, gta, gtm! ,  

d̄:q  becomes d̄:q>  , d¯:qa , d¯:qm! , 
THESE, then become the passive past participle forms. 
So i would translate "The boy was seen by me" as 

balk> mya d¯:q> , 
Let's analyze this sentence a bit. 

Recall: In a passive sentence, the object now falls into the àwma iv_aiKt 

The subject falls into the t&tIya iv_aiKt ,The verb NOW follows the "object 

turned subject." Here, the participle "see" now has to follow the "object 
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turned subject." ( The participle acts as a verb, does it not? So it MUST 
follow the same rules the verb does.) 
Our Active sentence would have given you a clue to what gender "I" am.  

d̄:qvtI  is feminine. Now in our Passive construction, since the participle 

HAS to follow the new subject, it becomes masculine and the sentence 

reads: balk> mya d¯:q> , Please recall that our participles are like adjectives 

and can be M, F or N. 
Let's have a look at a few more sentences: 

I wrote an article. Ah< leo< iliotvtI / iliotvan! ,  

An article was written by me. mya leo> iliot> , 

He wrote a story. s> kwa< iliotvan! ,  

A story was written by him. ten kwa iliota , 

She wrote a poem. sa kaVy< iliotvtI ,  

A poem was written by her. tya kaVy< iliotm!, 
What is the advantage in using the past passive participle?  
Well, since the participle follows the subject, it doesn't matter who the 
"actual" doer is..... that doer ALWAYS falls into the trutiya vibhakti and has 
nothing to do with the participle or the verb. Let's look at another example, 
this time using the verb form along with the participle to see how much 
easier the participle usage is. 

 She ate a fruit. sa )lm! Aoadt! ,  

A fruit was eaten by her. tya )lm! Aoa*t , Here we need to remember 

the A.P. forms of the past tense . Why not a very simple: tya )l< oaidtm!  ? 

1. He worshipped the Lord. s> dev< AicRtvan! ,  

     The Lord was worshipped by him. ten dev> AicRt> ,  

2. She worshipped the Lord. sa devm! AicRtvtI ,  
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     The Lord was worshipped by her. tya dev> AicRt> ,  

3. He worshipped the Devi. mç: s> devI<m! AicRtvan! ,  

         The Devi was worshipped by him. ten devI AicRta ,  

4. She worshipped the Devi. sa devI<m! AicRtvtI ,  

The Devi was worshipped by her. tya devI AicRta ,  

What happens to a sentence like : "The mother gave a book to the girl?" 
Here is how you would make both Active and Passive sentences: 

AMba bailkayE ¢Nw< dTtvtI , 

AMbya bailkayE ¢Nw> dTt> , ONLY the PRINCIPAL object and subject jump 

vibhaktis.....the participle naturally follows the "object turned subject" AND 
the rest of the words in the sentence remain as they are. 
From the dwitiya onwards, these past participles take on the form of simple 
adjectives in active voice sentences. Here are a few examples...... see how i 
have used the various tenses.... 

1. It is written here. 

AÇ iliotm! AiSt, 
2. I will place the cleaned vessels on the table. 

Ah< à]ailtain paÇai[ %TpIiQkaya< Swapiy:yaim , 
3. The bloomed lotus was white. 

ivkist< kml< Zvetm! AasIt! , 
4. He gave the grain to the irritated brahmin. 

 s> kuiptay äaü[ay xaNy< dTtvan! /AyCDt! , 
The exercises will deal with converting the active into the passive. Lesson 47 
C should help you see how the past participles in the rest of the vibhaktis 
are used. 
Honestly, with what we have done this month, it's been a giant leap forward 
in our understanding of Sanskrit. Next month will be just as enlightening. 
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Lesson 47 A. Exercises with the Past Passive Participle. 
Translate the sentences first( use the Active Past Participle....for further 
practice, you may try this exercise using the verb forms as well) and THEN 
convert them into the passive voice using the Past Passive Participle. 

1. I remember the story. 
2. Sheela sang a song. 
3. Kishore saw the tree. 
4. I received the news. 
5. The students (M) understood the lessons. 
6. The boys saw the movie. 
7. The women cooked the meal. 
8. The men washed the dishes. 
9. The people watched television. 
10. The girls asked the teacher questions. 
11. The wealthy man gave the beggar a bag. 
The next few sentences, since we have no specific subject in the Active 
sentences are best translated ONLY in the passive...you'll be surprised at 
how simple these translations really are. 
12. Understood? (my most favourite one-worder....my students hear it all 

the time.) 
13. Read the lesson? 
14. Has the newspaper arrived? 
15. Eaten your meal? 
16. Seen this movie? 
17. Has the bus gone? 
18. Is the speech over? 
19. Is the pooja over? 
20. Is the lesson over? 

********* 
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Lesson 47 B. Answers to Lesson 47 A. 
 

1. I remember the story. 

Ah< kwa Sm&tvan! / Sm&tvtI , 
The story was remembered by me. 

mya kwa Sm&ta , 
 

2. Sheela sang a song. 

zIla gIt< gItvtI ,  
     A song was sung by Sheela. 

zIlya gIt< gItm! ,  
 
3. Kishore saw the tree. 

ikzaer> v&]< d¯:qvan! , 
The tree was seen by Kishore. 

ikzaere[ v&]> d¯:q> , 

 
4. I received the news. 

Ah< vataR< àaPtvtI  / àaPtvan! , 
The news was received by me. 

mya vataR àaPta , 
 

5. The students (M) understood the lessons. 

 DaÇa> paQan! AvgtvNt> , 
The lessons was understood by the students. 

DaÇE> paQa> Avgta> ,  ( the participle follows the "object turned 

subject" in number, gender and vibhakti.) 
 
6. The boys saw the movie. 
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balka> icÇpq< d¯:qvNt> , 
The movie was seen by the boys. 

balkE> icÇpq< d¯:qm! , 
 
 

7. The women cooked the meal. 

mihla> _aaejn< pKtvTy> , 
The meal was cooked by the women. 

mihlai_a> _aaejn< pKtm! , 
 

8. The men washed the dishes. 

 pué;a> paÇai[ à]ailtvNt> , 
The dishes were washed by the men. 

 pué;E> paÇai[ à]ailtain , 
 

9. The people watched television. 

 jna> dUrdzRn< d¯:qvNt> , 
Television was watched by the people. 

 jnE> dUrdzRn< d¯:qm! , 

 
10. The girls asked the teacher questions. 

bailka> AXyapk< àZnan! p&:qvTy> , 
Questions were asked by the girls to the teacher. 

bailkai_a> AXyapk< àZna> p&:qa> , ( the "principal" object becomes the 

subject... the other objects in the sentence do not change.) 
 

11. The wealthy man gave the beggar a bag. 

xink> yackay SyUt< dTtvan! , 
The beggar was given a bag by the wealthy man. 
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xinken yackay SyUt> dTt> , 

 
12. Understood?  

}atm! ? 
 
 

13. Read the lesson? 

paQ> piQt> ? 
 

14. Has the newspaper arrived? 

 v&TtpÇm! Aagtm! ? 
 

15. Eaten your meal? 

_aaejn< oaidtm! ? 
 

16. Seen this movie? 

 @tt! icÇpq< d¯:qm! ? 
 

17. Has the bus gone? 

laekyanm! gt< ? 
 

18. Is the speech over? 

_aa;[< smaPtm!  ? 
 

19. Is the pooja over? 

     pUja smaPta ? 
 
20. Is the lesson over? 

paQ> smaPt> ? 
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*********** 
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Summing Up Month 10. 
By the end of Month 10, you would have achieved the following: 

1. Learnt the tkaraNt words….. you will be able to speak to and refer to 

people with the respectful _avan!  and _avtI , 

2. Learnt how to use the Active Past Participle. You would have 
recognized the simplicity of using these words instead of the Actual 
Past tense verb forms. 

3. Learnt the use of the Past Passive Participle. Again, you will recognize 
how simple to use they are. 

Next month will be our first few lessons in Sandhi. Trust you will enjoy 
those. 

 
 


